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QUESTION 1

You have a campus location with multiple WAN links. You want to specify the primary link used for your VoIP traffic. 

In this scenario, which type of WAN load balancing would you use? 

A. BGP 

B. OSPF 

C. FBF 

D. ECMP 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-applicationadvanced-policy-
based-routing.html 

 

QUESTION 2

You are designing an enterprise WAN network that must connect multiple sites. You must provide a design proposal for
the security elements needed to encrypt traffic between the remote sites. 

Which feature will secure the traffic? 

A. BFD 

B. OSPF 

C. GRE 

D. IPsec 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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Which type of security solution is shown in this exhibit? 

A. service chain model 

B. centralized model 

C. inline security model 

D. de-centralized model 

Correct Answer: A 

 

QUESTION 4

A hosting company is migrating to cloud-based solutions. Their customers share a physical firewall cluster, subdivided
into individual logical firewalls for each customer. Projection data shows that the cloud service will soon deplete all the
resources within the physical firewall. As a consultant, you must propose a scalable solution that continues to protect all
the cloud customers while still securing the existing physical network. 

In this scenario, which solution would you propose? 

A. Deploy a vSRX cluster in front of each customer\\'s servers while keeping the physical firewall cluster 

B. Deploy a software-defined networking solution 

C. Remove the physical firewall cluster and deploy vSRX clusters dedicated to each customer\\'s servers 

D. Replace the physical firewall cluster with a higher-performance firewall 

Correct Answer: C 
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QUESTION 5

What is the maximum number of SRX Series devices in a chassis cluster? 

A. 2 

B. 3 

C. 4 

D. 5 

Correct Answer: A 

Reference: https://www.oreilly.com/library/view/juniper-srx-series/9781449339029/ch07.html 
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